Module 1 - Real and Complex Numbers Progress Exam 1

1. Choose the smallest set of Real numbers that the number below belongs to.

_ 150
)

{0 % -9.4868...

A. Rational <

O -REPE AT ING,
Irrational

RO~ TEEMIVAT IG
C. Integer

D. Not a Real number
E. Whole

2. Simplify the expression below and choose the interval the simplification is contained within.

8—1=+13%12— (15%9)
)

-1 =8-1+ 13%|2 — I35

54.94, —54.61]
127.08, —126.62]

A [~ - A -+ 412-13S
o - 8 | 3“ I
@[—128.05,—127.53} = 8-1% 135
D - (1Y
E. [

71.58, —70.93]
142.34, 14328 = 8-092-138 =-1723.92

3. Choose the smallest set of Complex numbers that the number below belongs to.

:2 + 7i
A. Pure Imaginary = 9 F3-1)
Rational
C. Nonreal Complex = j_ -3 FPA'CTIDS\.) ‘
D. Not a Complex Number 8 Z
E. Irrational = _q_ - 6;&. - -‘_ﬁ
g 8 8
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Module 1 - Real and Complex Numbers

Progress Exam 1

4. Simplify the expression below into the form a + bi. Then, choose the intervals that a and b

belong to.
Y8+ g;\+(-18z) +6(C-1)
(8 — 30)(6 — 2i) / ng loi—(8C -
a=42 b="3“ b 2 = |4z -3y
A. a €[52,61] and b € [—4.8,0.3] 2 ys -16¢
B. a €[52,61] and b € [1.8, ]
C. a € [38,43] and b € [32.9, 34.6]
: S AL
D. ac[43,49 and b e [5.8,8] =30 |-18¢ ¢
@ae[38,43]andbe[ 35.8, ~31.9]

5. Simplify the expression below into the form a + bi. Then, choose the intervals that a and b

belong to.

(

803
€ [1.4,2.5] and b € [-357, —352.8]

€ [111.7,113] and b € [~10.1, —3.§]
€ [1.4,2.5] and b € [-10.1, —3.8]
€l
€=

1.836

o =D

a =

a

A.
B. a
ZE
D. a
E.

4.8,0] and b € [8.7,12.8]
8.2,—-3.9] and b € [-3.6, —2]

R OMPLEX (ONIVVANATEOF -SC IS

o b+3¢
—18 — 44i ¢ _ _ya.
LR - ) 18 —Y4
G [-108 -=26Y¢
si|-90c -220t

T - 108 +(-TeMl) +(=900) + (<10) ()
6 +(-5)

= ~(08 -2LY4y - Qo +2206
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Module 2 - Linear Equations Progress Exam 1

6. First, find the equation of the line containing the two points below. Then, write the
equation as y = mx + b and choose the intervals that contain m and b.

x; X’)\' \ 0[ (X‘L,\lz)
‘(5, —9) and (—2,—7)

. SLOPE: M= =2-(-9) - 2 -
-z-s -2 Y—

Om € [-0.65,0.2) and b€ [-8.2,-72] Y= rxth = Y= =% x+b
B. me[-1,2] and b € [6.7,8.9] -9 = _;(53 +b l |
C. me[—1,4] and b € [-5.7, —4] -9= ‘_/1_0 b \= -0.186bx =3 57)
D. m € [~2,3] and b € [~15.1,—13.5] Mo o
E. m € [0.01,0.51] and b € [~7.2, —5.8] R /
9110 =ph =) -3S5%=bH
= ..

7. Write the equation of the line in the graph below in the form Ax + By = C. Then,
choose the intervals that contain A, B, and C.

M= 2-(-3 Y
o-(-» 3 N
Y/ Y-INTERCEPT 1S
. £ Lok ERE. x=0,
1 T A~D WE ARE
GIVE~STHIS
N PAU~ST! =0 b=
| | (.X;]\“ | '
§_\‘ 3 - TTYEmMx+b
A-\-S) p- 3 0=l G Y=%x+2
A. A €[0.79,2.05], [~1.1,-0.85], and C € [-2.7,~14] =3, —.'%x
3
B. Ac[2.54,3.25, Be[4.81,5.2], and C € [8.6,10.5] =
Y
|, Bel0.98,2.44], and C € [8.6,10.5] ( X Fy=2 )3
[

D. A € [3.95,6.21], —3.45,-2.23], and C € [-6.3,-5.4] (~5x Ay=( ) (= )

[
[
C. A€ 0.16,1.27],
[
Ae[-5.39,-421], Be[2.19,331], and C € [3.7.8]
@ K=3N = -0
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Module 2 - Linear Equations

&l.z x |14
Progress Exam 1

8. Find the equation of the line described below. Write the linear equation as y = mx +0b
and choose the intervals that contain m and b.

Perpendicular to 5z + 6y = 14 and passing through the point (2, —10).

T sx+by=14 PERPENDICULAR
m =\t o g (2 -5>; I ~Sx = EL SLOPE S
A me[~1,4 and b€ [-3,1] by=-Sx+l4 m=0: )1
G O —
B.me 072,119 and be [-15,-11] g g, 41y Y= . Tx +b
C. m € [~1.66,—0.66] and b € [—10, —7] G -10= .2 (2)+ b
O y—.°§)( +lq
m € [0.89,1.52] and b € [—13, —10] " -
E. m €]0,3] and b € [10, 13] SLOPE = =5 [t Yy=bh
wree 3 =5y
\‘J

9. Solve the equation below. Then, choose the interval that contains the solution.

AN YN

—3(—9x — 12) = —7(—8z — 2)
- — 03586 EDNEPN+EDNED = ERIESXD) 1Y

33X ‘:)-8 - ‘2S><+3§
23X = +LSX

A z€[~2.24,0.18] 13X +36 = Sbx +1Y
B. € [1.29,2.32] =X = T
C. z €[0.21,0.41] 36 = 29x% +1Y
(DD € 0.39,0.96) -4 - K 2 _ x
t
E. There are no Real solutions. _’L,?: = l_‘h( / L
9 219 0358b = x
10. Solve the linear equation below. Then, choose the interval that contains the solution.
RLLD 1530
(5@«—4_ Tr+3 —5x+7) R0
2 5 6
448 w%fﬁﬂ)’w@msxlm( Sx+7
A x€|[7.19,7.27
E e (PRI —co(4x+3>=sc-3x+:)
B.)z € [1.94,1.96] 25x% 8
T60 ~Yyx—lo= -1
C. x €[1.22,1.29] ©0 ~H2x SX+R
[ ]

D. z € [1.32,1.35

E. There are no Real solutions.

Bx=-38 =133

+3+8 =+38
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Module 3 - Inequalities Progress Exam 1

11. Using an interval or intervals, describe all the z-values within or including a distance
of the given values.

No more than 5 units from the number 7.

A. [-2,12]

B. (2,12) SONTD SV

© [2.12] (—W )
D. (—2,12) ) 3} 12

(RNEA

12. Solve the linear inequality below. Then, choose the constant and interval combination
that describes the solution set.

3r—9<6zx—3

Hﬁ
0= -1 =-3x =3x -1

A. (—o0,a], where a € [0, 6] T943%-3 [..z )

+3 +3 !
B. [a,00), where a € [1.4,4.3]
@[a, 00), where a € [-7,1] et ?.’_i‘
D. (—o0,a], where a € [—6.2,—1.1]

¢
E. (=00, 00) X

13. Solve the linear inequality below. Then, choose the constant and interval combination
that describes the solution set. LCD: 30

11163
(_107%+1>_77x_§ 33(0 (11163, )

o FlIG3 3(0(‘—X+|)>3‘o(ﬂ 3)

00, a), where a € [—1, 3]
00, a), where a € [—4,1] %( IOX)+—5(O ? %( ?X)+ %( %)

(=

(=

) (a,00), where a € [5, 1] —40x +36 y-126x -6O
- (a,

mo@w>

o0), where a € [0, 3] + bx +12bx
. There is no solution to the inequality. 8bx +36 > -0
-3 -3¢
86x%-9¢
Spring 2019 86 86 Version C
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Module 3 - Inequalities Progress Exam 1

14. Solve the linear inequality below. Then, choose the constant and interval combination

that describes the solution set. 9+ Yx ¢ bx
m—6+5x>7x or 9+44xr <6z ‘qx ~ i
~G+3x Y Ix qLex
-Sx —Sx o= p=| Y-S <~ 2z
—b Y2x (—oo,a) U (b, >0), where a € [—3.7,—2.8] and b € [3.2,5.6] 9 cx = Y45 X !
2 Y B (—oo,aUb,o0), where a € [~3.3, —1.7] and b € [3.1,4.7 *
. (—o00,a ,00), where a € [—3.3,—1.7] an 1,4.7] _
-3>X IIX OR 4S5 ¢x
L——= (. (—00,a]U[b,c0), where a € [-4.7,—3.8] and b € [2.2,4.4]
D. (—o0,a) U (b,00), where a € [—5.7,—4.1] and b € [1.5, 4] ¢ _E_S L‘I_S ’
E. (_OO7OO> (—OQ/—B) U(‘-lSJ C)Q)

15. Solve the linear inequality below. Then, choose the constant and interval combination

that describes the solution set.

(6+4x<

a = S.6 h— 5.9

]
), where a € [1,6] and b € [25, 26]
)

@(a, b], where a € [3,9] and b € [23,27]

E. There is no solution to the inequality.

37x —9

[
[

, where a € [—30,—23] and b € [-7,1]
[

[LLD: R
§6—|—5x):"
b +4) L 4(34__><—q ) £ #(E+5x)
3

(a,b], where a € [—30,—24] and b € [-10, —3] Y1+18x ¢ 3Ix-9q &£ 42 +35x

418X ¢ 33 x—-9

A~D
Ix-9 ¢ Y2+3x

Y2428x ¢33Fx—9

3Ix-9 € Y2 435x%

X35 -6 A~D X255
3.0 ¢x ¢ 25.5

~28x -28x -5« =33 %
L(?.L‘ix‘cl 1x-9¢ 42 (——@_—-—#——)
3! ¢ 9x eS| (56, 25:5)
9 9 R
sl , Y ST X< 5,11_
g X =86 X
A X<¢25.5
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